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@ 8 - D13 > 3820

3000

q

6 - D13 > 1810
1400

L

E

@ 6 - D13 > 1210
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]

g |
6 - D13 > 2210

1800

L

E
@ 18 - D13 > 1310

900

o

14 - D13 > 1410

1000

[

E

@ 16 - D13 550
1 &
Aok

S=1:50(A1),1:100(A3)

L
( W (my | ) (kg) (kg) (kg)
@ 12 - D19 % 3000 F1| D25 3600 | 24 3.980 1433 343.92
F2| D25 4560 | 24 3.980 18.15 435,60
@ 167 - D19 > 3000 F3| D19 3000 12 2.250 6.75 1.00
@ 6 . D10 %% o 1100 wi| D19 | 12860| 38 2.250 28.94 1099.72
W2 | D19 | 11260| 4 2.250 25.34 101.36
18 - D19 > 750 W3 | D19 7140 | 3 2.250 16.07 48.21
W4 | D19 3000 | 167 2.250 6.75 1127.25
@ 12 - DI19> 600 W5 | D19 1000 8 2.250 2.25 18.00
@ 16 - D19 >< 2160 W6 | D19 750 | 18 2.250 1.69 30.42
@ 16 - D19 > 1510 W7 | D13 | 12650| 32 0.995 12559 402.88
w8 | D13 12050 36 0.995 11.99 431.64
@ 12 - D13 200 W9 | D13 | 10340| 8 0.995 10.29 82.32
4 - D13 > 1800 wio| D13 | 1110| 8 0.995 1.10 8.80
12 - D13 3000 wil| D13 600 | 12 0.995 0.60 7.20
wi12| D19 2160 | 16 2.250 4.86 77.76
W13| D19 4250| 2 2.250 956 19.12
wi4| D19 1510 6 2.250 3.40 20.40
S1/| D13 1810| 24 0.995 1.80 43.20
s2| D13 200 | 12 0.995 0.20 2.40
S3| D13 3820| 8 0.995 3.80 30.40
@ 14 - D13 > 2130 S4 | D13 1810 6 0.995 1.80 10.80
100 S5 | D13 1210| 6 0.995 1.20 7.20
‘H%Qo S6 | D13 2210| 6 0.995 2.20 13.20
s7| D13 1310| 18 0.995 1.30 23.40
03[:|:| @ S8 | D13 1800| 4 0.995 179 7.16
& « S9 | D13 1410| 14 0.995 140 19.60
S10| D13 3000 | 12 0.995 2.99 35.88
& S11] D13 550 | 16 0.995 055 8.80
K1| D13 2130 | 14 0.995 212 29.68
@ 336 - D13 > 630 K2| D13 630 | 336 0.995 0.63 211,68
FA% K3| D13 730 6 0.995 073 4.38
é%%:::r"-1::§% _
G D13=| 1380.62kqg
D19= | 2623.24kg
D25= |  779.52kg
(k3) 6 - D13 730 478338kg
100

100

o
Al
=

=

12

~
~1
>

:

26




hHEARZERTE R | 5

ETEER (FEHE)

M 00-1225#%

ERE R AL (H=1. 1
SFEBEBRI 0Y) S (=1, |n)

FEREMAE
kR 0y) SEEGR) 0y) F 58RI ( CH25 )

1.00%

1.500%

—a]

HEDAE
(300 x 300)

£ B FKMEANEA  t= dom

|Bg @ . EHHI9vyIv RC-40 t=10cm
24N8-F8 - D4 INAE—FRF t= 5Scm

: BETHEA 13mm  t= Sem
; MIEEES) Ms-256  t=15cm
: B&YIyyr-5v RC-40  t=15cm

BAZHEAs 13mm__ t= 5cm
P13 * Ms-25  t=15cm
BAYIFyv-57 RC-40  t=15cm

B BKMBAAIEAs  t= 4cem
B B . B\HEI9v47v RC-40 t=10cm
JN3-F8 : T4 JLZ—FE  t= bcm






